Malmo6 BK
Sommar Serien 5 2018-06-18

IMP o6ver faltet, 9 bord, 18 par. Antal brickor: 14.

Plac Par Poang Namn MID Klubb
1 12 44 Linus Dahlstrém - Jan Gutenwik 44253 6302  Lunds BK - Malmé BK
2 6 43 Fredrik Jarlvik - Siv Jarlvik 4451 5751  Malmé BK
3 14 18 UIf Hegethorn - Per Henriks 4462 11230 Malmd BK
4 3 17 Berth Rasmusson - Birgitta Kiotseridis 5791 22803 Malmé BK
4 17 17 Klas Bellander - Mats Holm 4541 4537  Malmo BK
6 1 12 Hans-Olof Hallén - Lars-Goran Niklasson 9896 11361 Malmo BK
7 15 4 Yan Leger - Mats Berggren 4582 5549  LUCK
8 9 2 Hans-Olof Holmaqyvist - Jan Eriksson 15960 27765 Malmo BK
8 11 2 Perry Sjoberg - Magnus Wegestal 5775 91149 Malmé BK
10 8 -2 Eva-Liss Gothe - Hans Gothe 5285 9054  LUCK
10 10 -2 Borje Jarlvik - Bengt Sahlstrém 4479 53453 Malmo BK
12 4 -4 Niklas Andrén - Martin Gardrup 1623 36202 Lunds BK - Malmé BK
13 18 -12 Nils Séderberg - Thomas Ehrstedt 12409 4074  Hoors BK
14 2 -17 Susanne Levin - Goran Nilsson 53421 23136 Malmo BK - Ystads BS
14 16 -17 Johan Bennet - Tatyana Trendafilova 93 35574 BK Lavec - Malmé BK
16 5 -18 UIf Nilsson - Lars-Ake Larsmyr 63923 14232 Malmo BK - Vastra Bjare BK
17 13 -43 Per-Olof Olehn - Hakan Stenfot 5099 41921 BK Zonen - Bridgeklubben 2 Kléver
18 7 -44 Tomas Lindqvist - Bjérn Erickson 11362 60673 Malmd BK
1 4 K32 Basta kontrakt 2 a4 Basta kontrakt 3 4 Kn105 Basta kontrakt
Nord v2 3vy OD-1100 Ost vKn94 64 O =-980 Syd v EKn62 44 S =420
Ingen + EDKn8632 NS ¢+ ED42 ov ¢ DKn3
*74 & ¢ v & NT #D8754 & ¢ v & NT #E103 & ¢ v &N
4 E754 «DKnl0 N39 448 49 4EKD108753N 6 5 5 1 1 D94 4872 N9 7 10109
vEK6 v DKn107 S 394438 vE10753 8 S65511 v 95 v 1074 S 9 7 10109
¢754  ¢10 09 4885 +Knl05 ¢ K98 O7 8 8 1211 ¢ EK542 10976 046 334
#KD2 #Kn8653 V94885 #EK103 49 vV 78 8 1211 *K97 #Kn86 V46334
4986 & Kn62 & EK63
v 98543 vKD62 v KD83
+ K9 ¢ 763 +8
«E109 *Kn62 #D542
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 9 3¢DN= 4Q 470 80 -80( 3 16 44 O+2 a2 -480 6.0 -6.0(13 6 4vy S+l ¢A 450 20 -20
12 7 3¢« N+1 vQ 130 0.0 0010 9 54 O+1 ¥K -480 6.0 -6.0|14 5 4v S+l ¢A 450 20 -20
8 11 3¢ N= +Q 110 0.0 00[12 7 44 O+2 3 -480 6.0 -6.0|17 2 3NN+1 7 430 20 -20
13 6 3v0-2 ¢K 100 -1.0 10(14 5 44 O+2 vK -480 6.0 -60| 4 15 4v S= ¢A 420 20 -20
18 1 44V-2 v2 100 -1.0 10|17 2 44 O+2 ¢7 -480 6.0 -60(10 9 4y N= ¢T 420 20 -20
316 3vO-1 +¢K 50 -2.0 20| 4 15 64 O= 46 -980 -7.0 7012 7 4v N= ¢6 420 20 -20
4 15 3v 0O-1 +¢K 50 -2.0 20| 8 11 64 O= vK -980 -7.0 7.0[18 1 4v N= ¢T 420 20 -20
14 5 3v0-1 +¢K 50 -2.0 2013 6 64 O= vK -980 -7.0 70| 3 16 3NN= ¢T 400 1.0 -1.0
17 2 3v0-1 50 -2.0 2018 1 64 O= +3 -980 -7.0 70| 8 11 4v S-1 +A -50 -9.0 9.0
4 4 D95 Bésta kontrakt 5 D62 Bésta kontrakt 6 4 8765 Bésta kontrakt
Vast v EK10852 4v N =620 Nord v K982 44 O =-420 Ost vDKn76 2¢ S =90
Alla + 10752 NS + Kn6 ov + Kn5
»- & ¢ v & NT *E752 & ¢ v & NT *K63 & ¢ v &a N
4 K763 4 EKn84 N 8 5 105 9 4 Kn85 4 K9743 N38434 4104 & EKKn32 N487 66
v74 v D6 S 8 6 105 9 v EKNn10743 ¢5 S 38434 vE2 v 10953 S 48766
¢ KDKn64 ¢ 98 057274 ¢E2 ¢+ K3 09 5 9 108 ¢+ K84 +D9 085676
#65 #D9432 V57274 %103 #KDKn98 V 105 9 108 #DKn10872 #54 V85676
4102 4 E10 4 D9
v Kn93 v D6 v K84
¢+E3 + D1098754 + E107632
#EKKn1087 *64 #E9
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
17 2 4y N+1 49 650 50 -50(17 2 54 0-1 +vQ 50 90 -90(10 9 34 0-2 +A 200 6.0 -6.0
3 16 4v S= +K 620 40 -40( 3 16 34 O+1 8 -170 40 -40(18 1 340-2 +A 200 6.0 -6.0
4 15 4v N= ¢9 620 40 -40(14 5 34 0+1 7 -170 40 -40| 4 15 3¢ S= K 110 40 -40
8 11 4v N= ¢+9 620 40 -40| 4 15 44 O= *6 -420 -3.0 3.0[12 7 2¢ S= aT 90 3.0 -30
10 9 4vy N= +9 620 40 -40(| 8 11 44 O= +9 -420 -3.0 30|13 6 2¢ S= aT 90 3.0 -30
12 7 4v N= #2 620 40 -40(10 9 44 0= +8 -420 -3.0 30| 8 11 2¢ N-1 &5 -50 -1.0 1.0
13 6 2vS+2 ¢K 170 -7.0 7.0(12 7 44 O= +6 -420 -3.0 3.0(17 2 3¢ S-1 4T -50 -1.0 1.0
14 5 3vy N+1 #2 170 -7.0 7.0[13 6 44 O= .7 -420 -3.0 30| 3 16 3aV= +J -110 -3.0 3.0
18 1 2vS+2 ¢K 170 -7.0 70|18 1 44 O+1 &A -450 -4.0 40(14 5 3NV+1 ¢ -630 -12.0 12.0
7 41054 Bésta kontrakt 8 s E4 Bésta kontrakt 9 & Kn8 Bésta kontrakt
Syd v D874 6NT V =-1440 Vast v DKn10987 34 VD-1100 Nord vKn1096 54 O =-650
Alla + Kn9 Ingen ¢ DKn3 ov + Knl1084
#D532 & ¢ v & NT #105 & ¢ v & NT »E98 & ¢ v & NT
4 EKD732 49 NOO400 4DKn32 48765 N67 957 4 K43 4D107652 N 3 4 5 2 2
v 96 v KKn5 S00400 vE3 v K65 S67 957 vKD7 vE2 S 34522
+D5 ¢ EK1042 O 12129 1212 ¢ E10976 ¢4 075485 ¢+ ED7 4532 09 9 8 1110
&E84 #KKn76 V 12129 1212 *76 #DKn982 V75485 #DKn42 &#K6 V9 9 8 1110
4 Kn86 4 K109 4 E9
vE1032 v42 v 8543
+ 8763 + K852 + K96
109 #EK43 #10753
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
3 16 3NO+4 v2 -720 50 -50( 8 11 4vy N= ¢4 420 6.0 -6.0|12 7 44 0= v4 -620 1.0 -1.0
4 15 B3NO+4 &T -720 50 -50(|12 7 3NS= 4Q 400 50 -50[(14 5 44 0= 49 -620 1.0 -1.0
8 11 3NO+4 v2 -720 50 -5.0|17 2 3NS= ¢6 400 50 -5.0| 3 16 44 V+1 & -650 0.0 0.0
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12 7 3NO+4 &T -720 50 -50( 3 16 3y N+1 ¢4 170 -1.0 10| 4 15 44 O+1 6 -650 0.0 0.0
14 5 3NO+4 v2 -720 50 -50(14 5 2y N+2 ¢4 170 -1.0 10| 8 11 44 O+1 &5 -650 0.0 0.0
17 2 3NO+4 v2 -720 50 -50(18 1 3vy N+1 ¢4 170 -1.0 10|10 9 44 O+1 3 -650 0.0 0.0
18 1 3NO+4 ¢3 =720 50 -50({10 9 2y N+1 ¢4 140 -2.0 20|13 6 44 0O+1 +¢6 -650 0.0 0.0
10 9 6NO+1 &T -1470 -11.0 11.0| 4 15 4v S-1 ¢4 -50 -6.0 6.0(17 2 4e V+l vJ -650 0.0 0.0
13 6 6NO+1 46 -1470 -11.0 11.0|13 6 4y N-1 ¢4 -50 -6.0 6018 1 44V+1 vJ -650 0.0 0.0
10 4 K5 Basta kontrakt 11 4 KKn107 Basta kontrakt 12 & EK74 Basta kontrakt
Ost v Kn83 54 O D-1200 Syd v Kn3 24 S =110 Vast v KKn94 2NT N =120
Alla ¢ KKn874 Ingen 49862 NS ¢ E94
#D32 & ¢ v & NT #E53 & ¢ v & NT *Kn6 & ¢ v & NT
«DKn93 4107642 N 4 119 3 9 4643 #982 N7 8787 4DKn6 41085 N7 77838
v 975 vD S 4119 37 v KD52 v 1076 S78787 vD5 vE1076 S77 7838
¢D ¢+ E96 09 2 2 103 ¢+D ¢ KKn107 O6 56 46 ¢+ KD762 ¢ 105 06 6 555
#Kn10764 #EK95 V.9 22 103 #DKn1086 #K72 V65646 #973 #KD85 V66555
4E8 4 ED5 4932
v EK10642 vE984 v 832
¢10532 ¢ E543 ¢ Kn83
*8 *94 #E1042
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
12 7 4vS+1 ¢Q 650 120 -120|13 6 24 N= «2 110 20 -20| 3 16 INN+1 &K 120 10 -1.0
14 5 4v S= +Q 620 110 -11.0| 4 15 INS= *Q 90 20 -20| 4 15 INN+1 7 120 10 -1.0
8 11 5¢ S= «Q 600 11.0 -11.0( 8 11 INS= *Q 90 20 -20|12 7 INN+1 v6 120 10 -1.0
10 9 24 0= vA -110 -4.0 40|14 5 INS= *Q 90 20 -20|13 6 INN+1 &5 120 10 -1.0
18 1 24 O+1 ¥vK -140 -5.0 50(17 2 INS= *Q 90 20 -20|18 1 INN+1 v6 120 10 -1.0
3 16 34 0O+1 vA -170 -6.0 6.0(18 1 INS= *J 90 20 -20|10 9 INN= vT 90 0.0 0.0
4 15 34 O+1 vA -170 -6.0 6.0 3 16 24 N-1 &2 -50 -3.0 30|14 5 INN= 8 90 0.0 0.0
13 6 34 O+1 8 -170 -6.0 6012 7 2NS-1 £Q -50 -3.0 30117 2 1e N= *K 70 -1.0 1.0
17 2 44 O= 8 -620 -120 12010 9 2sV= vlJ -90 -4.0 40| 8 11 2¢ V-1 4A 50 -2.0 2.0
13 +E104 Bésta kontrakt 14 462 Bésta kontrakt
Nord v 9842 34 N =140 Ost v72 3v O =-140
Alla +94 Ingen + K1032
*Kn874 & ¢ v & NT #EK984 & ¢ v & NT
«D3 497 N31491 « KD43 a7 N7 4466
vKnl0753 vK6 S11491 v EKn6 vKD1083 S74476
¢ EKD73  #Kn8 098845 ¢ EKn8754 ¢ 96 06 9967
3 #EKD10952 V 9 8 8 4 5 »- #Kn10632 V 6 9 9 6 7
# KKn8652 « EKn10985
vED v 954
¢ 10652 ¢D
»6 »D75
Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
3 16 540-2 46 200 40 -40(| 3 16 4v V-1 #A 50 70 -7.0
4 15 540-2 45 200 40 -40(12 7 4v0O-1 5 50 70 -7.0
10 9 540-2 45 200 40 -40(14 5 4v0O-1 &5 50 70 -7.0
12 7 5#0-2 48 200 40 -40(| 8 11 3¢ V= 46 -110 40 -40
17 2 44 0-2 48 200 40 -40| 4 15 34DS-2 +A -300 -2.0 2.0
14 5 4v V-1 «A 100 20 -20(|17 2 4v V= *A -420 -5.0 5.0
18 1 440-1 45 100 20 -20|18 1 4vO= +Q -420 -5.0 5.0
13 6 3#0-= +5 -110 -4.0 40(13 6 44DS-3 vA -500 -6.0 6.0
8 11 4v V= v2 -620 -120 12.0|10 9 4vDO= &A -590 -8.0 8.0
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